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ul:!_llﬂ" Fird number of page faults for FIFO (First In };‘usl Out). page reple;en)qnt policy if only 4 pa'jé,cs 1
I can be loaded at a time ~
; 5.4,3,2.1,43543,2,5
l @ 9 (G 1 s
' () 11 (@) ‘
5 3 Assume we need to download text documents at the rate of IUOQ pages per minute. What is the
; " E= required bit rate of the channel, if a page is an average of a 24 lines with 80 characters iy, ¢y,
£ line?
: E= (2 1.536Mbps (b) 1.736 Mbps
:‘j% (c) 1.830 Mbps (d) 1.936 Mbps
= !
3, é If every non-Key attribute js functionally dependent on primary key, then relation will be i
atleast ; i
(=) First Normal Form (INF) (b) Second Normal Form (2NF) ;
(¢) Third Normal.Form (3NF) (d) Fourth Nyrmal Form (4NF) g
4, OST layer which is responsible for moving frames from one hope to the next is §
(2) Physical (b) Data Link ' g
(¢} Transpoi (d) Network io8
5. & Runtime polymorphism is implemented by- ., _ i
2= (a) Function overloading : (i)) Opera‘lor o)vcrlo'adin ;
= g : _ g
R (c) Virtual Function (d) Function Template
6. E Which of the following sorting methods will be the best if purmber of swapping done, is the only
= measure of efficiency ? g J
(a) Bubb{c sort > (b) Inscrtion sort :
(c) Selection sort (d) All of these
7. :I‘hc r.naximl.m.m mumber of comparison needed 1o sort 7 itecms using radix sort is {assumc clich
ttem 15 a 4 digit decimal numbezr) : :
(a) 280 (®) 40 :
(c) ~47 ; (d) 38
8. What is the dutput of this C code ?
#include <stdio k>
= int main() i
= { ' :
3= printf (“Hello Worid! %d \n”, x);
gg return 0; &
T — ) i
B i 3
= (?) Hello World: x; (b)  Hello Warld! followed by a junk value g
= (c) Compile time enror (d) Hello World .

g
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9. QoS stands for 18. ConSfdet 2 noise less chaane) with a bandwidth of 3000 Hz transmitting a signal with two signal
(@) Quality of security (b) Quality of systern levels. Maximum bit rate can be
(©) Quality of service (d) None of the meantioned . (a) 3000 bps (). 6000 bps

. . (€) 9000 bps (d) 12000 bps
10. A graph ir; which al} nodes are of equal degree s called i : o
() Multi graph (b) Non regular graph : 19. Eipress the boolean function F = xy + x'in 5 product of maxterms form
= (©) Regular graph (d) Complete graph ; = BN xi(05; el 7 M) (0,2, 4, 5)
= b : = ( 0,1,3,5 d 1,3,5,7
11._= Which of these data types is used by opcrating system to manage Recursion in Java/C/C4+9 = () = ) @ = 57
R iy ®) Stack 20.3E In Ct+, a variable defined within a block is viibie
%’ = (©) Queue (d) Tree PE (1) from the point of definition onward m (b)) from the point of definition onward in the
= : = the program function
12. = What is the binary equivalent of the decimal number 3687 = (¢)  from the point of definition onwardin  (d) throughout the function
(@ 101110000 (b). 110110000 é‘ the block =
» =
(c) 111010000 (d) 171100000 % 21. Salim, the son of Murad is married to 4, whose sister Jabeen is married to Ayaan, the -E—,,_,
13. Which of the following is not a storage class supported by C++ 9 E 2:3::«??0[ Salim. How is Jabeen married 1o Ayaan, the brother of Salim. How is Jabeen related 1o Eg
5 i { ‘;
u auto ¥ =2
(a) rcus::r ((:; rbiic § (2) Sister (®) Cousin =
(¢) mutable ] (c) Sister in law (d) Daughter in law =
14. s In C'Hj the d.cclamnon 29 g Suntosh goes first 7 ki North then turns [oft and moves 10 kan, again he nums left and moves 7
= nt X; int&p=x; 2= km. How far is he from the starting point ?
G i Ly
§§ is s.tmc.as thc. declaration §§, @) 7km ®) 10km
rE SR PP & 2 (O 17km d) 24km
= This remak is =
g () trus (b) false 23, = Ncqm starting from point X and walked straight Skm West, then tumed left and walked 2 km and
j ;s . . *gdm tumed left and walked straight 7 km. In which directed is she from X 7
(e) sometimes true (d) nonz of the above
functi d (), returns 4n integer between 0 and (@) North - East (b) South - West
Assume that a random number generating function - rand (), ret ‘ °8 g ] % x
= 10000 (both inclusive). If you want to simula(e the throwing ofa die using this randorn function, () South - East (d) North - West
use the ex,ression 5 24. Find the missing in the following 3 ‘ =
: =
(@) rand()%6 (b) rund(‘)_:ﬁwti;l f ACE,GIK, .. SUN = Ex
X Y d) none of the aboye i . &
(€) rand()%5+1 @ Yo . i (4) LNP (b) MOQ =.!;
16. For amethod (o be an interface between the outside world and a G-+ class, it has to be declare : (¢) NPR . () MNO g"#
= (3) pnvate (b) protected ; 25. = Find the missing sequence in the following 3t =
= (¢) public (d) external . = :
aa . o 3& 25,49, 121, 169, ...
17. gg To sort muny large objects or structures, it would be most efficient to Putlc TR g E () 256 ®) 283
2 i ¥ € b1 g
E= (&) roferences 1o them in an armay and sorq (8) Tioarin aTioked (hcand soxt tis “E o) 25 ) 189
= the array = : ;
= () pointers fo them in an array and sort (d) them in an array and sort the array 26. == The empirical relationship between fMean, mediun and mode i :
the array : (a) mean —mode =3 (mean - medisn) . B) mean~ median = 3 (mean —mode)
(¢) median - mode = 3 (mean — mode) (d) None of these 1
%
s o
. 2. ; |
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27. Select the paic that has the same relationship as the original pair
East : Onent
(&) Socth - Polwe (b) North : Tropic
(c) South: Capricom (d) West : Occident
28. Find the missing (7} from among the given options,
= T X
‘; ] $ 22 i 3?7
is @ 2 ® 3
E O 7 ; @ 4
29. = Find the missing sequence in the following.
1532030 ,8,13
(02 ®) 4
(¢ 5 ) 8
30, Find the missing (7) from among the given options.
Bz 16 2 DT
E o n ®) 150
2= (o) 200 : (d) 264
=]
31.%% Let f{x, y) = x* + y? for all (x,y) & IR Then _
= (a) hasalocal maxima at (0, 0) " (b) [hasa local minimaat (0, 0)
= () {has ncither a local maxima nor alocal (d) fhas both a local maxima and a focal
minima at (0, 0) . minimum at (0, 0)
32. Let T: Py(x) = Pp(x) be linear transformation on vector space P;(x) (polynomi I
degree < 2 over R) such that T(f (x)) = -f-* (f(x)). Then the matrix of T ve.r.t. basis {1, x,;x?} is
0 0 0 0,01
(1)100] @)[020
0L 2 -0 0 0 0
. 0
100 01
(€) [o 0 z] @ [0 g g]
= 0 0 0 0 .
13 :—E_ Ifx+y+zrmu, y+z2=uv,z=uvw, then the value of the Jacobian of X, ¥,z vith respect to
"G u, v, wis
gé ) uv?
PE (2 uv ® s
= (0 vV @ vv
E H fnale
34 The polar cosrdinates of pose 2re b
(a) undefined ®) © 3
@ (0.5
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=
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[ct the cquation of a straight line passing through a point A (<, f3, v) and baving dicection ratic -

y-a =u
=
m

I, m, n be given by x—;ﬂ ey Suppose that P be any arbitrary point on this line wiij
coordinates (o + I, B + mr,v + mr). Geometrically, 1 is

(a) equa! to the distance AP
(c) enual to half the distance AP

(b) proportionai to the distance AP

(&) proportional to AP?

The volume of the solid generated by revolving the regior: between the y-axis and the curve

x=2/y,0<y < 4, about the y-axis is

(a) 4z
(c) 16=n

(b) 32=
(d) 8=

If U={(x,y)ER*|y=mx}and W ={(x,y) €R*|y=tx,t+m} are subspaces of R,

then dim (U + W) is

@ 1
(c) 2

®) 3
@ 0

Which of the following function is continuous at origin

® )= {cos-:; , x%0

0, x=0

sinxsin-l-. x#0
() f(0 { ” e

10w is chiaracicasuies aung ol @ non-singuiar muirx A, den the characteristics root of adj A is

(@) L}
a
() |Al¥a

ik x+sin§,
®) F(x) { 0

(d) f(X)=[
() |Al=a
D e
@ 7

The solution of y = 2px -+ tan* (xp?), is (here p=%)

(@) y=2cx+tan Y(xc?)

© y=cx+tan (53)

The extremal of the functionall = [f

(1) Z=xFily)+Faly)+ yFs(x) + Fa(x)
() Z=xFi(y)+Fav)+y* Fsfx) + Fa(x)

xz0

x=0
Sk

xsin-, x#0
x
3 x=0

" 2
(b) y=cx:+tan™? (%)

(d) y=cx+tan"(c*x)

2
az’-+*’1‘+(""') ] dx dy is

Fx-’ -D-);; 2xdy

The complete solution of (p? +¢°) ¥ =@z, is

) 5 Ay,
N Wy A

(c) Z=(a+bx)M by

b Z=@

(b) Z=x¥i(y)+Fay) + yFa(x) + Fa(x)
(d) Z=x*Fily)+Faly) + y'Fa(x) + Fa(x)

FP)x+by

(d) z=(a+bx)+by

R AR W R s
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43. The solution of the differential e Sl ; !
cquatl: axt 9% Y = xe*sinx is i 5] The value of J:Ix:?:y is
@ y= (c1-cax)e*+e* (2cosx +x 5inx)  (b) ¥ =(e1+ c2x) ¢* - ¢* (2cosx + X sinx) | y i B
@ y=(a+ex)e™e*(cosx+xsinx) (d) y=(ci+c; X) ¢+ e (2co8% — X sinx) ' @ 3 ")
44. The centr: of a rectangular hyperbola lics on the line ¥ = 2x. If onc of the csymptotes is ) (©) =a (O] ':3
X +y+c:=0, then the other asymptote is ! 52 The value of [[]
e L 1e value o zdxdydz is, where the region of integration v is 2 cylinde which i
= (@ x-y-3c=0 (®) 2x-y+c=0 ‘ = beunded by the following surfaces : ' o bl
= {c) x-y-¢=0 (d) none of these &= 3 24 2
P = 2=0,2%1,x}+y -4
45 8= The derivative of fix,y) = x* + xy at Py (I, 1N in the direction of the unit vector s= @ 2= . (b)) x
RE - (1). 1 < 2= :
=2 =(7)+ (5.6 1N O ) Ax
= =

@ s/3 ®) \% 53. The greatest value of the function f{x, y) =x‘y on the cllipsé: + % =1,1is
4 - ‘ (@ 2 ® =
© 22 @ - @ 0 @ 1 =
=8
46. Ifu=f(x-y,y-z,z-x), then the valuc of ‘;{“":—;""%E will ke equal to 4. The thirdoxderdivideddiﬂumceof“; based on the arguments Xo, X1, X2, X3 is éé
3 1 ! -1 =
(a) 0 (b) 1 (@) XoTyX7 (b) XoX X2 =
= (¢ 2 @ 3 B e =
E ) 2 W7 - = © Tor1¥1Ty (d) AR
47 2= The continuous function f: IR — IR defined by f(x) = (x*+ 1)™"" is o~ Qg Which of the foliowiag is sn facorrect stateqaest 7
8= (a) onto but not onc-one (b) oue-onc but not onto ‘;§,= L(FY2 4 B2
o ¢ 3= @ Ev=vE ®) u=3(E2+E?)
“= (c¢) both one-one and onto (d) neither one-one nor onto - 1 . 7
= . - . — - d) o =EVR4EVE
48, = Let IR*= {(x,¥,2) | %,y,7 € IR }be the vecior space over the feld of real nunibers [R. Let W e : o
be the subspace of IR generated by the set {(1, 2, -3)). Geometrically, W represcats, 56. The locus of points from which three mutually perpendicular tangent lines can be drawn to the
ight line having equations 2x — y = 0 =3y + 2z paraboloid ax*+ by? = 2z , will be
() asiraight line having eq . Laving direction cosines 7‘. e 9l % (0) a(P+y)-(a+byz=1 (b) b4 y)+(atb)z=2
(b) a straight line passing through origin and kaving 14 * V14 Va4 PR R i () ab(+yY)-2Aa+byz=1 5
1 s 1z=0 =
(¢) a plane having, the equation 5x + 2y + f |t - =7 then value of X is (approx) =o
(d) aplane passing through tbe points (-2, 1,3),(1,2,-3)and (2, 1, -3) 57. i yi 4,)(': 12, y4= 19 and y; en e x:’w gg
; (@) 2.8 : =r
49 Let f(xy) = {(1] 4 z : g , then which of the following is true I (¢) 1.09 (@ %01 E
ey exist at (0, 0) 58, £ An integrating factor for the differential equation (y' + 2y’) dx + (2xy +xy) dy =0, is =
= (a) fiscontinuousat(0,0)and i, fy exis B 0 - 0 0 ) xy”
Z (1) fiscontinuous at (0, 0) and £ , fy does not existat @, (L 0 = W *t , f'm @) 1y
L= : ; b 6, fy dos not existat (0, 3B (9 "y
o (¢) fis not continuous at (0, ) %o 1y 2= Sk 5 3 = =y,
§§ (d) fisnot continuous at (0, 0) and £, £y vxistat @2 59, :E If yr and y» are two solutions of initial value problem y™+ p () y" * ) TR0 Sy
iE G, " & y'(xe)~y'o and Wroaskian W (34, ) = 0, then y and y» are
. = Fpm—— e Rynots
50. E § Hygd K ipaenté o S, 02 (b) HUK mayor may 1ot be su*group of G (z ‘tnearlyindependert = fw;ir'f;;ﬁwﬂm"lbl::n:‘ionl
(a3 HUKis subgroup of G 4 (d) all of the above ststements are false (c) linearly dependent (d) not .
(¢) HUK is never subgroup o ,
9 |
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60. The equation of a circular cylinder, whose guiding curve is
x3+y’+z’-9,x—y+z-3

will be

(a) x%1 y’+z’+xy+yz—zx—9=0

(=) x1+y’+z‘-xy+yz—n+9=0

®) x2+yz+7,1—xy—yz—-zx =0
(d) 5x*+8y+522+4vz+87x--dx ~ 144 =0

214

= SR sl
61.a§ ‘I: case of two-way classification with ‘r’ rows and “c" columns, the degree of freedom for error
§E
pam (@) rc-1 ® @-i)c
°§ © (c-1I)r @ -1)c-1
62 = [:cl Xy = 2.? »X2 =4, x3 =34, x4 =45, xs = 1.1 and X6 = 5.7 be observed values of a random
3 simple of size 6 froma U (61, 6+4) distribution, 0 (0, ) is unknown. Then MLE of § is:
(@ 1.8 ®) L1
(c)y 5.7 (d) 36
: 63. s TR Xa ar¢ random observations on a Bernoulli variate X taking the value ‘1’ with
probably p and the value ‘0* with probability (1 —p), then a constant estimate of p(l -p)is
- X =
= (W) L X(1-x
£ 0 ®) X(1-%)
SE () Ry @ Jx
54§§ Let X be any random vari. ble with means # and variance 9. Then the smallest value of m such
= that P( X - jul<m )2 0.99, is
= @ 9 (b) V90
[100 : d) 30
65. If f(x) =§ » =l <x<1, zero elsewbere, isthe pdf of the random variable X, the pdf of Y = X?
i8: =
1 -
(a) ;,-I<y<l (b) m,0<y<l
© 5 0<y<l (ydbeys
66, = 1fthe mean and variance of a binomial variate X are 8 and 4 respectively, then P[X < 3] equals
z= 137 2=
gg () ie ® 2‘2
S — 25
= o B @ %
=

For a normal distribution, the coefficient of Kurtosis B2 and y2 are

(a) P2=0,y2=3 ®) Pp2=3,12=0
©) B:>0,yz>3 (d) p2<0, 12<3

-
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68. If X is the number of heads obtained in four tosses of a balanced coin. Define = ﬁ T g
value ufP(Y = ;) is
1 1
@ 3 ® ;
2 3
© 3 @
=
9. = The probability that a high schoal student being male is ; and that being female is i The
G= probability tha. a malc student completes the course successtully is % and that a femalc student
§§ does it is g - A student selected at random is found to have comapleted the course. What is th:
:§ probability that the student is female ?
— 16 4
= () 5 ® 3 ]
© =2 @ 2 :
11 7 :
70. Consider the following reoression equations : §
8X~10Y+66=0 and 40X--18 Y =214 g
The correlation coefficient between X and Y is §
= @ 06 ) 0.6 °
= (© 0 @ 1
7|_§§ The first four moments of a distribution about the value 5 of the variable are 2, 20, 40 and 50.
8= TheS.D.is:
-:g () 2 w) 4
E (¢) 7 (d) 16
2. Giventhat P(A) =, PV) =3 and P(AUB) = 3 - Then the probability P(BJA) is
1 2
(a) 2 ®) 3
1 3 8
(c) 2 (d) 3 g
3. If g is a continuous and zonvex function on the interval T and X is a |_’and0m variable, whete %
values are in T witk: probubility 1, then which of the following statements is true : E
(a) E[gX)]1=2eg[EX)] &) E(gX)]1sg[EX)]
= = A :
= (© E[gP0]=g[EMM] @ E[e00) 5w H
74. EE I a random variable X foliows geometric distribution, then for any two positive integers j and k, |
8= P(X2/+K|X=)) isecqualto: ‘
N !
= ) P2 ® PX>¥)
E (© PEs)) (@) PX<j+k)
/3. Let X ~ 1N (i ,07, Where p aind o° botl are unknow. Thei ic siple Lypotiesis .
(a) Ho:o=2 (B) Ho:p=S$

() Hoip=2,0=4 (d) Ho:p#S5,0=2

1
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76. Bowley's coefficient of skewness is based on
(a) Mcan and variance (b) Quartiles
(c) Deciles (d) Percentiles
77. If'a constant value § is subtract § © /m each obscervation of a set, the variance is

(¢) Non-sampling error (d) Sumpling error

‘E‘ () reduced by 5 (b) reduced by 25
;E (¢) unaltered (d) increased by 25
78 gg Census survey is free from
RE
5= (a) Response error (b) Non response crror
=
=

79 The skewness in a binomial distribution will be zero, if

i A
(@ p<; (b) p= 3
(C) p >§ (d) P= 0
80 If experiment material is homogeneous, then suitable design is :
= \3) URBD (b) CRD
= (© Ls (d) Splitplot
81 gE A particle of mass 2 kg is moving such that a. lime ¢ second, its position in meter is given by
P& P(t) = 51 = 2t%j . The angular momentum of the particle at t = 2s about the origin in kg-m/s, is
PE @) 64 ®) - 64k
= (0 -80F (d) 801
82 The energy of a unstable pacticie is 100 moC?, If its life time in its own rest frame is 107 s, how
far will it move approximately in lab frame before decaying 7
() 0.03m (b) 3m
(¢) 30m (d) 3km
83 If the electrostatic potential is given by ¢ = K (x* + y’ + 7%), where K is constant then the charge
density giving rise to the above potential would be
(a) - Keo (b) -2Keo
(¢) ~-3Ke, (d) - 6Keo

What would be the D.C. component of the following waveform 7
- Nr) (volis)

@ 0
() 2
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85. A inductor (140 mH), capacitance (10° uF) and & resistor (392) are connected in series to an ac.
source whose e.m.f. (in volts) varics with ‘me t (in second) according to the expression E = 282
$in(100t). What is the impedance of the circait 7

@ 20 ®) 150
(© s5a @ 100
86. = 'I'hc. xulec.lcd ray is completely polarized when the angle of incidence of the incident light on the
= surface of glass slab is 60°. What is the velocity of light inside the glass ?
g_-;:‘ () V3x10° ms (b) g}nu‘m (
2= () VZx10'ms @ L x)gtms-!
u v2
87. ’——é Two straight and narrow parallel slits 3 mm apart are illuminated with s monochromatic source
(A = 5.9x10"* cm). Fringes are obtained at a distance of 30 em from the slit. What is the width of ==
the fringes ? ;
@ 59%10%m ®) 59:107m =4
() 59x107m @ 59<0%m =4
14
B8. A S transistor with f = 100 is to be operated as a CE amplifier with fixed bias method. The =
transistor opetates with collector current Ig = | mA and Ve = 4 V with load resistance in the =
E collector circuit is 2 k2, What is the value of Ry ?
B @ 400 () 5300
g2 (0 470KQ @) 530KQ
=
89. 5§ For given transistor circuit, what will be Ve, where Vig = 0V
= N+ 10V
=
R310KQ
=
=
=
=r
(@) OV (b) 5V Eg
() 10V @ 25V ga
" =
90, = The sum over the Legendrs polynomials Titg Pre(x) is E
= 1
- -
B @ via-x ) VzZ(1-2)73
o 3 = |
ig © o2t @ (2-297
il -
= ’ . , i rder differential
- E If the y(x) is the Laguerrc function then which of the following second o
= equation, it should satisfy 7 )

(b) y"+axty *ay=v

T 4xy toy=0
(ﬂ) x‘y xy (d) xy"-&-(u.-x"'l))"*'“y'o

© y'+(a-x+1)y +ny=0

13
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A light source of wavelength A illuminates a metal and ejects phoioclecrrons with a maximum |

UNIVERSITY
. 100. A parallel plate capacitor has cirmular plates of 6 cm diameter and 2mim separation of air Te =
J 5 besn of elccu-m!s of wavelength 1A is diffracted as it passcs through a poly crystalline cubic amount of charge that will appear on ihe plates for a potential difference of 100 volts is
w‘aysta“ b: stiucture with spacing of 1A. The Bragg angle for the first order diffraction maximun, ' (3) 04 x162 coulomh ) 2.5 x10 conlomb
! 1.25 10~ coulomb
(a) 10° = ®) 20° (¢) 5x10coulomb (d) x 10 coulos
(c) 30° : (d) 40°
= i
93. = Two coherent sources, whose intensity ratio is 25:1 produce interference fringes, What is the | =
2 % ratio of a maximum infensity and minimum intensity of the interference paitern ? : =
g ; o —
&= (v 18:12 - ) 25:1 ; =
= i bt
':E (C) L2 | - (d) 9:4 ':g
e
= =

kinetic energy of 1.00 eV. A second light source, with half the wavelength of the first, ejects
photo elzctrons with a maximum kinetic energy of 4,00 ¢V. What is the work function of the

metal? g
(a) 1eV ! ) 2eV %

() 3eV (d) 4ev .
95 What is the dircctional derivative of f{x,y) = X%y in the dircction { + 2f at point (3,2) ?
S w y ®) 7 =
gE © @ % ' 22_
96. '}:g Typical values of the h-parameters of a transistors are the following : §§
E- e =330 ; hie=4.5KQ ; he=2%10" and hae = 20:10 * mho

—

= The transistor is used as a CE amplifier with the load resistance Ry = 5 kQ and the intemnal”
resistance Ry = 5K€2 and the intemal resistance of the signal sourcs Rs = 10KC What is the
value of the current gain 7

(a) 150 (b) 300
(¢) 200 (d) 100
97. If the power factor changes from il.o %, then what is the increase in impedance ? i
(a) 50% (b) 75%
(c) 100% (d) 200% -
= ; Z =
98. E Who first came up with the idea of stimulated emission ? \ _,_é;
QE (a) Alexander Graham Bell (b) Isaac Ne.wwn' .é E
gE (¢) Arthur Schalow (d) Albert Einstein ,"'j'_‘-';:‘.
e . o " . ded i 3 g U,E
99, .E The time constant of a RC circuit is 1 sec. When | Mﬂ MI?‘;‘:zi:-z\:i‘t'm ;:lvmcs the time =]
§= constant becomes 1.5 see. The capacitance and the resistance O y = |

@ R=IMG C=1pFaad

®) R=2MQ , C=05nFarad | jj
() R=2MQ , C = | pFarad

(@ R =2MQ , C=5.0 u Farad

15
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Answer Key ( MCA ) Admission Test 2020-21
SERIES: D
Q.No. | Answer Q.No. | Answer

1 B 41 A
2 A 42 C
3 B 43 B
4 B 44 A
5 C 45 C
6 & 46 A
7 A 47 D
8 (& 48 A
9 (® 49 D
10 C 50 B
I B 51 B
12 A 52 A
13 D 53 A

14 B 54 D M
15 B 35 D
16 C 56 D
17 C 57 B
18 B 58 D
19 B 59 L
20 C 60 7
21 D 61 D
23 C 63 B
26 A 66 A
29 C 69 A
30 D 70 %
31 A 71 B
32 D 72 C
33 D 73 A
34 A 74 B
35 B 75 C
36 B 76 B
Ul C 77 C
38 C 78 D
= A L B
40 B L 50 =
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